PROFESSIONAL EXAMINATION

{ Professional ] BOARD )
Cb@mminquon Police Constable Recruitment Test -
boord 2017 (Supplementary)

28th Sep 2017 03:00PM

Topic:- General Knowledge and Logical Knowledge

1) Which cricket team won the 2017 Deodhar Trophy? / E:I'l}l ¥ fa fpde S A 2017 ot aﬁiﬂ'
SIp] Sftdl?

1. Mumbai/w

2. Baroda/a@a

3. India B / §faT ot

4. Tamil Nadu / Hiﬁ?ﬂ]g

Correct Answer :-

e Tamil Nadu / aIﬁEI:Ils

2) If three unbiased coins are tossed, then what is the probability of getting all the tails? /'Clﬁ GiE|

fFroger Rrapt &1 IoTer 91T 8, @ T &1 gRUTT @) e g9 3t n wiikiedr 32
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Correct Answer :-



3) If the fifth day of a month is Friday, which of the following will be the seventh day from 10t of

that month? / TT T 1 Uiwai e a2, ) Frafif@d & § o1 a8 &t 109 arfia @
Araqi f&= g

1. Tuesday / HITAAR
2. Monday / AR

3. Wednesday / gYUdIX
4. Thursday / T[¥>dIR

Correct Answer :-
e Wednesday / §UdRX

4) Which number is written backward as 'Two thousand eight hundred and three'? / P Y T

0 A R |, <81 g9IR 3ime At it foret st
1.3028
2. 8032
3. 8302

4. 3082

Correct Answer :-

e 3082

5) If INTIMATE is coded NIITAMET, then how is MASTER coded? / Ifé INTIMATE 1

NITAMET ¥ HIf$d far SIar 8, 9 MASTER &) $1 Sifsd forar S
1. MASRET
2. AMTSRE
3. TERMAS

4. SAMERT

Correct Answer :-

e AMTSRE

6) If SAND is coded WDPE, then how is MORE coded? / af¢ SAND DY WDPEQ s foar Siran
T, At MORE®! B Sifed fooar s

1. QRSG
2. QRTG



3. QRTF

4. PRTF

Correct Answer :-

7) If CAMEL is coded DCPIQ, then how is DONKEY coded? / af¢ CAMEL &' DCPIQW ®ifsd
a1 SITaT 8, 9 DONKEY ) &8 Hifsd fear s

1. EQOOJE
2. EQQOKE
3. EQQOJD
4. EQQOJE

Correct Answer :-
« EQQOJE

8) If people is coded PLPOEE, then how is trend coded? / Tfg people @ PLPOEE J Hif&d farar

W%,ﬁtrendﬁﬁﬁ%ﬂmm?

1. TRDNE
2. TNERD
3. NDETR

4. DNERT

Correct Answer :-
« TNERD

9) Select the option that is true about the Statements and Conclusions given:

Statements:
All lambs are hares
Some bicycles are not lambs

Conclusions:
I. All bicycles are hares
I1. Some bicycles are hares

/ 39 fdpe &1 9= Hifere W) fp AT U HY=T iR ool $ TR A TS 2:
DhY:
Ift T R



PO ISP TH T &

Fro:

1.t wrgfre @R §

L. $ A3 d TN §

1. neither conclusion I nor conclusion II follows /- ébf ﬁwmh 3ﬁ? “ g)[ ﬁwﬂf 1T 3R W %
2. both conclusion I and II follows /55 1 3R 11 g1 ST Hd %

3. only conclusion II follows / Had ﬁmﬂf 1T 3TN D dl %

4, only conclusion I follows / FHad fTspY | S{JROT Hdl %

Correct Answer :-

e neither conclusion I nor conclusion II follows /- Eﬁ ﬁw?&h \3?|T “ Eﬂ ﬁ'@b_é 1T 3AFERT I %

10) Select the option that is true about the Statements and Conclusions given:

Statements:
All clothes are sons
Some papers are clothes

Conclusions:
I. All papers are sons
II. Some sons are paper

1 39 fased &1 Tu1 BT it ¥ T 7T wu=T ok el & aR & 9l 8:

DY

aftsugae §

Ay

LI PR 9 §

L. $ 3¢ PN &

1. neither conclusion I nor conclusion IT follows /= & F&HE 1 3R 7 81 fst 11 3RO Hvd &
2. both conclusion I and II follows /TS5 I 3R 11 GIFT TR A &

3. only conclusion II follows / ad (ASHY IT TRV BT §

4. only conclusion I follows / Had HY [ TRV BT &

Correct Answer :-

« only conclusion II follows / Hdd fSHY 11 SURUT Hl &



11) Select the option that is true about the Statements and Conclusions given:

Statements:
All bottles are iron
Some bottles are paper

Conclusions:
I. Some iron are paper
I1. Some paper are iron

/ 39 fapey &1 a1 Hifore s fP 2w e wy=T R fArepul & IR A I8t 8:

HY:

it Siaa deTE

T Sl9d BV &

Ay

1. PO ART PN §

1. $O BT AI6T &

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY I 3R 7 & FISHT 11 SFTRT Hd &
2. both conclusion I and II follows / fFSF T I 3R 11 ST 3TRYI B &

3. only conclusion II follows / A fASHY 11 TRV BT §

4. only conclusion I follows / Had FT5HY [ STIRTT BT &

Correct Answer :-

e both conclusion I and II follows / W&I Gﬁ_\" 11 Eﬁf SR B %

12) Select the option that is true about the Statements and Conclusions given:

Statements:
Some pens are rubber
Some pens are daughters

Conclusions:
I. Some daughters are rubber
I1. All pens are rubber

1 3 fameq &1 au=1 ST &t fob fw T Sy ok fAewel & 9 o 98l 2:
BY:

PO DAIIES ©

oo Had afeui g

Ry

.

L. 9O TS &



1. g PaH TS &

1. neither conclusion I nor conclusion II follows / 1 ﬁ ﬁ'@b_ﬁ I GhT Cl é“f ﬁ'@ﬂf 1T 3{TIR0T I %
2. both conclusion I and II follows / f&RY 1 3R 11 G STTARUT I %

3. only conclusion II follows / $Had FHY 11 S{FERUT pdl ?

4. only conclusion I follows / $Had FpY 1 ST hdl g

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 81 F5hY 1 3R 7 €1 e 11 ST FRA G

13) The Women’s hockey team wins 2016 Asian Champions Trophy. / 3|
wfgar siet E = TR Affm=g giwt 2016 St

1. China / 9

2. India / HRd

3. Japan / SITUTH

4. Pakistan / OTfop T

Correct Answer :-

e India/ HRd

14) In a queue, Shekhar is ninth from the back. Arun's place is eighth from the front. Nikhil is
standing between the two. What could be the minimum number of boys standing in the queue? /

tufed &, TR NS O 19 RF IR 21 3RS &1 RIF M 3maai g1 A el & g & @sT
21 e & W2 Te) B gAaH GBI fra- 8 gedl 22

1. 10
2. 14
3.8

4.2

Correct Answer :-

15) In a certain code language, fi-uit is good means jham carz beta, eat good food means carz lemp

gren, tree is tall means beta prom loco. Which is the word for fruit in that code language? / Tch T

PIS YT |, fruit is good®1 3 o Jham carz beta, eat good food ™1 3 ¥ carz lemp gren,

%e;'ris ta%l?ﬂ 3 beta prom locoBaT &1 sﬂ?ﬁg yToT A fruita?mﬁ?\qwmsﬁw
T &?

1. jham



2. beta
3. lemp

4. carz

Correct Answer :-

16) Fundamental Duties was included in the Constitution through the Amendment adopted

in 1976. / 1976 § YT T TR & A1 A Wi o qayd eded of e fear
T AT

1. a7th /479
2. 32nd/ 358
3. 42nd ) 428
4. 56t/ 569

Correct Answer :-

. 42nd ) 499

17) Manoj and Sachin are ranked seventh and eleventh, respectively from the top in a class of 31
students. What will be their respective ranks, if ranked from the bottom? / 31 ﬁmfifa’raﬁ Th HET 'ef,
T 3R T A < @ =T raar iR WREaT R U fhar 81 afe v @Y e | faan
WTT df 31 Gl T T &I RIT gRM?

1. 20t and 24t 7 209 3R 24
2. 24t and 20t / 2491 3R 2091
3. 25t and 215/ 2591 3R 2191
4. 26 and 22" / 2691 3R 221

Correct Answer :-

e 25t and 215t/ 2597 3R 2191

18) Which ministry has recently launched two new contraceptives, named “Antara” and “Chhaya”? /

5 darerg A g1 81 A '3iRT 3R BT AW & A nHfFRIu® Ry feu 22
1. Ministry of Health and Family Welfare /W@WWW

2. Ministry of Agriculture and Farmers Welfare /Q’TWQHWWTUTW

3. Ministry of Social Justice and Empowerment / AT =T Td gRIai b 0T HATTY



4. Ministry of Women and Child Development/rl'%ﬁTQa CINECEIRREEINE|

Correct Answer :-

e Ministry of Health and Family Welfare /W@WWW

19) The city of Gwalior is located on the banks of river . /ETI%I'CR' AU T-I'c.pf &

R R 21

1. Narmada / THT

2. Chambal / J+d

3. Betwa / Sl

4. Mahanadi / HgTId]

Correct Answer :-

e Chambal / dHd

20) Find the odd one out: /Q'G'Tﬁ'q'q Ad aﬂﬁnz:
1. Gujarat / T[SIRTd

2. Lakshadweep/?f&‘l@ofq

3. Daman & Diu / qHd sﬁ?d’la

4. Andaman & Nicobar / 3/SHM 3R FAPER

Correct Answer :-

e Guijarat / 7[oIRTd

21) Mukhyamantri Teerth-Darshan Yojana was started in Madhya Pradesh in the year i

Ty § gt i axfa aer St yeema_ af d gg <
1. 2014
2. 2012
3. 2008

4. 2006

Correct Answer :-

e 2012

22) In which of the following states is black soil found? / fFrafefaa H 9 fore g | et ﬁl’g"f it
STt 32



1. Rajasthan / XTSI

2. Madhya Pradesh /Y g

3. Jammu & Kashmir/ﬁﬂl@m
4. Arunachal Pradesh / 3{¥UTTAd U=

Correct Answer :-

e Madhya Pradesh / & USRI

23) Which of the following is the longest National Waterway in India? / fafafaad a P °T HIRA

BT FIG Ta7 ITPIT TTHF B AT &2
1. Narmada River/:lﬁiﬂq—cﬁ
2. Betwa River/aﬁaT'_‘l_C(pf

3. The Ganga River between Allahabad and Haldia / SAlgldlg 3R S‘I?QQI %ﬂwwq?ﬁ

4. The Brahmaputra river between Sadiya and Dhubri /Eﬁmqa W%qu:ﬁf

Correct Answer :-

e The Ganga River between Allahabad and Haldia / Sdlgldl 3R 6@3“ %HWTF'ITHT‘«P[

24) Which one of the following industries uses bauxite as a raw material? / Frafafaa kI k|
T, STaTsC B! F= T &b U W SUGRT HdT 82

1. Cement/?ﬁﬁs’:r
2. Jute /VC

3. Aluminium /W&Iﬁ'{m
4. Electronics /‘s’éaeﬁlaﬂ

Correct Answer :-

e Aluminium /W&Iﬁlﬂ’q

25) Kakrapar Atomic Power Station is located in . [ BTHRITUR YIHTY] Soll R )
fR@3i

1. Tamil Nadu / alﬁaﬂ g

2. Rajasthan / XTSTRITH

3. Gujarat / oIRId
4. Maharashtra / HeIRTSC

Correct Answer :-



e Guijarat / T[SIRId

26) When was the India's first solar powered DEMU train launched? / HIRd P UYH AR St ddTierd
S ¢ B IR B Dt T4t A

1. 2005
2.2014
3. 2010

4. 2017

Correct Answer :-

27) Nitin is ranked eighteenth in a class of 49 students. What is his rank from the bottom? / 49

faent¥ai 5t va wen | fAfes 7 sreReal ®iH urw fran @ st RMA w1 E?
1. 18
2.31
3.19

4.32

Correct Answer :-

28) India's first Partition Museum is located at ./ HRA PTYYH f3 YTST-T TTETTT
#fRE g

1. Indore/%él?
2. New Delhi /T&F%('_Q‘ﬂ

3. Amritsar / {HdHR
4, Jaisalmer/aﬂﬁﬂ?

Correct Answer :-

o Amritsar / 3{HdX

29) The Madhya Pradesh government conferred the Kumar Gandharva Award in 2017 on i

2017 ¥ T YR AR A P PUR T1Ud REPR A GHATH foar 4Tl
1. Amir Ali Khan / 37HRR 3{cil @

2. Javed Akhtar / STTAG 3R&AR




3. Kapila Venu /a'TmFITa'Ul
4. Hirabai Barodekar/aﬂlﬂgm

Correct Answer :-

 Kapila Venu /EFmFITa'Ul

30) Padma Awards are announced every year on the occasion of WA WR'E?E’&

F aR W O¥a fPu o &1
1. Gandhi Jayanthi ) et ST
2. Independence Day / ¥addl fgaq

3. None of the above /gﬂﬁﬁﬁé%"r

4. Republic Day / TT0Td faadq

Correct Answer :-

« Republic Day / UGS fadq

31) was known for her valiant fight against the British and was the queen of King

Vikramaditya Singh of Ramgarh. / ﬁm%ﬁwmwg@%mamm%
<TetT faspaTieed Rig ot I & =9 | <=1 SiTar o7l

1. Rani Lakshmibai /Wﬁﬁ&%ﬂaﬁ

2. Rani Padmavati / X1 TSTTddl

3. None of the above /gﬂﬁ@fﬁg:ﬁﬂ

4. Rani Avantibai Lodhi / JT1 W@%ﬁ

Correct Answer :-

« Rani Avantibai Lodhi / J1 Gﬂ?ﬁa'léf'ﬁ%ﬁ

32) is one of the well-publicized wildlife campaigns, launched in 1973. /1973 ﬁm%m

T 3=SY TR | YAIhd ggeitg SR 4 U B
1. Project Rhino /mm

2. Project Barasingha /mwm

3. Project Gharial / Aiolae giaTd

4. Project Tiger/?ﬁ@ﬂfﬂé"ﬁ

Correct Answer :-

e Project Tiger/ Eﬁ@ﬂi’ EIé‘R



33) Mount Abu is located in state. / ATIC 3ITq g B A g1
1. Rajasthan / XTSTRYTH

2. Gujarat / T[oR_Td

3. Madhya Pradesh / A UG

4. Maharashtra / HeIRTSC

Correct Answer :-

e Rajasthan / JTSTRYTT

34) Basdeva is a traditional community of singers based in the region. /WT 833[
H Ry Traw! 31 Th IRURS G9g 3|

1. Baghelkhand / CERECE

2. Bundelkhand / §eE S

3. Malwa / HTAdT

4. Chota Nagpur / Blc ANTYR

Correct Answer :-

» Baghelkhand / TUADS

35) Hoshang Shah's Tomb is located at ./ 3-1'521'“ TTE BT HDHERT o fuda % |
1. Patalkot / UTATADIC

2. Chanderi / el

3. Mandu/rﬁ_ﬁ'
4. Khajuraho / ¥y[R gl

Correct Answer :-

e Mandu/ j:|'|_§'

36) Complete the series choosing the missing number: / T JBAT TAB YT HI GRT HITOIC:
2,9, 28, 65, 126, , 344

1. 220

2.217

3.216

4. 218



Correct Answer :-

e 217

37) Complete the series choosing the missing number: / Y& HGIT GBI AT DI GRT HIOTT:
7,12, 19, ; 39

1. 29

2.28

3.26

4. 24

Correct Answer :-

38) Complete the series choosing the missing number: / Y& HGT GAB AT DI YRT HIOTT:
1,25 10,17, 26,

1. 38

2. 36

3.37

4. 35

Correct Answer :-

39) Hyderabad will host the Indian Science Congress (ISC) in 2018. / 2018 A

FRIETG, YR g S (SmSuwil) &t Asart S|
1. 106t / 1067
2. 105th / 1059
3. 104th / 10491
4.103'd / 103F

Correct Answer :-

. 105th / 10591



The series given below contains a sequence of numbers. Identify the incorrect combination: /

2 & 7€ graen §, eneil 1 ve HH SufRG T Tad HaieT vgaie:
0,2,3,6,9,18,27,54

1.6

2.0

3.54

4. 18

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1)
If the following two squares shown below overlap, which one of the following options is

formed? / AfE forest af et sifacafa g1 & ar ey & & wia a1 v faseT gorar
27

L




L}
4 |

.

L L
H

I I
H
i '
- L}
] !
-

Correct Answer :-

- )
- R B SR
: .
. -
4
.
[ ]
2)

If in the figure, set A represents all the athletics participants, set C represents all the cricket players,
while set E represents all the Europeans, then which area represents the European athletes? /3 c

3@ #, AT A Wi Wore yfasfadt &1 gaffar & weead ¢ Wit fahe faenfsal &
gt &, STafd THead £ Wl QU &1 gl B, Fi A1 8 U o, sl &
GRITCT &7

w
\/

1. F
2.G
3.D+G

4. F+G

Correct Answer :-

e F+G



In the sequence shown below, which figure comes next?/ A 83 IR A A, 3T 31'@:71:;-7
HileT AT MM

Correct Answer :-

4)

111 1

2'5'3718

1. 13/60
2. 13/40
3. 11/40

4. 11/30

Correct Answer :-

e 11/40



1
The sum of three numbers is 84. The second numberis 335% maore than the first and the third is 40 %

more than the sum of the first and second. The numbers are:_-’?fl?f TEHT &1 AR 84 %I E'ﬁﬁ’h
mmﬁ’ﬁé% S & 3N AR FEm, geell AR gy & ARThd T 40% IS B

1. 10, 13,61
2.21, 28,35
3. 10, 20, 54

4. 15, 20, 49

Correct Answer :-

« 15,20, 49

6)
In the sequence shown below, which figure comes next? / A e I %A H 3ol 31'@%
i dr 3

@@E}@ o~ |




=)

4.

Correct Answer :-

7) Find the average. / 3Nd fAeiferd
32,39,46,52,61 & 76

1.47

2.45

3.49

4,51

Correct Answer :-

8) The series given below contains a sequence of alphabets and numbers. Identify the
incorrect combination: / 1d &t T$ e H, &R 3R @M BT TH wH fHfed &1 Tad
HIYeT UgaIg:

i.wxevw5601wvexw
ii.wxevw5601wvexw
iii.wxevw5601wuexw
iv.wxevw5601wvexw

1. 1ii

Correct Answer :-

. il



9) When asked about his age, a man replied that his age is equal to the value of one angle of an
equilateral triangle. What is the person’s age? / SId Tdh Y=Y T P! S FIRHA YST I, G|
I IR 31 i IuPY 3y U quaTg AP & TH S0 & A F IR 2 | AfRT B 31y
foait g2

1. 45
2.90
3.30

4. 60

Correct Answer :-
e 60

10) A person was asked to state his age in years. His reply was, “Take my age five years hence, multiply
it by five and then subtract five times my age five years ago and you will know how old | am”. What
could be the age of the person?/@ﬁﬁﬁﬁﬁﬂﬁﬂﬁﬁﬁﬂl JHPT 3R YT,
T8} 3mg T A v 9 91 B AR, fbw IR v A Yo #3 ok b v o gd 9 ey
BT U AT Y TeT S al STUD! gar T & A 3y fara-l 8 17 39 safaa & oy fpasit aifte

1. 40 years / 40 a'&f
2. 60 years / 60 CL
3. 70 years / 70 G

4. 50 years / 50 CL

Correct Answer :-
e 50 years /50 CL

11) In the class, the average weight of 32 students is 44 kg. The average weight of 40 students in
another class is 38 kg. If the students of both the classes are combined, then find the average weight. /

P& H 32 BT BT 3T ToI 44 THUT 1 TP 30 P& H 40 B! P71 3 Hd a9 38 fFur 21 I
Y B3 P BT B JaIora o a1 9IY ot SNd o= UTe S |

1. 40.66 kg / 40.66 T3
2. 30.65 kg / 30.65 fdUT
3. None of the above /Wﬁ@ﬁg:ﬁﬂ

4.35.21 kg / 35.21 fooam

Correct Answer :-

. 40.66 kg / 40.66 fouT



12) A fruit seller buys 200 apples for Rs. 80 and sells it for Rs. 100. What is his profit percent? / T ¢l

faohdT 80 U H 200 VT WHEAT 2 3R I 100 TUT H A9 ST ¥ | SHBT ATH Ufa2rd 1 22

1.35%

2.25%

3. None of the above / SRIGd § I ob\lng@P[

4.30%

Correct Answer :-

e 25%

13) Simplify the ratio 18 : 45 :72. / 3{JUTd 18 : 45 : 72 BT GBI e |
1.1:3:5

2.3:5:7

3.2:5:8

4.6:5:4

Correct Answer :-

e 2:5:8

14) Find the value of k for which x = 2 is a root of the equation 3x% - 2kx + 5 = 0. / k BT HTH ﬁﬁﬁ,

forTd 1T x = 2, TP THIHRT 3x2 - 2kx + 5 = 0 BT TH YA & |

18

|5

Correct Answer :-



15) Find the value of 25*3 /15+2 *5./25*3 /15 + 2 * 5 BT U JTd B |
1.0
2. 45
3.15

4.75

Correct Answer :-

e 15

16) In covering a distance of 30 km, A takes 2 hours more than B. If A doubles his speed, then it would

take 1 hr less than B. Find the speed ofA.IBOMHﬂQ'\&HﬁWW%ﬁ‘IE, A, B ¥ 2 He 3fed
AdT 31 TS A S AT B SR B S A AV B F 1 HET HH AT A B I16 J1d B

1. 6.5 kmph / 6.5 faH Ufd gt
2.6 kmph/GWqﬁfﬁa
3.5 kmph/S%ﬁ[EIﬁf‘J'ET
4. 5.5 kmph / 5.5 foo 1 Ufa der

Correct Answer :-

. 5kmph/5%ﬁ[§lﬁ‘ja

17) In a certain case,8 men can do a piece of work in 12 days. After they have worked for 6 days, 2 more
men joined them. How many days will all of them take to complete the remaining piece of work? / Tdh

3 arra ®, 8 79 T S @) 12 3T & B Ta €1 6 a7 &1l B & Uy, 2 iR =W
TS 81 9Td &1 31 Gad) A9 i ) guf w34 | fpa= f&m @i

1 1
—1§da}s,-"—1g IGG]
1.
4 4
—1§da}sj’—1§ fe=
2.
3 3
3 —1Eda}sf—1§ G

3 )
4 days/ 42 e
5 " 8

Correct Answer :-

4 4
4§da3,s;4§ fe=



18) Tanya's grandfather was 8 times older to her 16 years ago. He would be 3 times of her age 8 years
from now. What was ratio of ages of Tanya and her grandfather 8 years ago? / 16 atfqtq‘aw & a'la'ﬁﬂ

IUY 8 TATTS U1 Y 3 | 8 T UYTd ITP! MG & 3 TATEIN | 8 T g 1T 3R S0P SIeToit
P AT BT AUTd T UT?

1.11:50
2.11:54
3.11:53

4.11:51

Correct Answer :-
e 11:53

19) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ﬁaﬁ'&

T IR Tl § 9 19 R T 1d & St GHH 19 91U 181 @2
Paul Bauer

Sudweg 3,

Glandorf, 49219

(i) Paul Bauer
Sudweg 3,

Glandorf, 49219

(ii) Paul Bauer
Sudweg 3,

Glandorf, 49219

(iii) Paul Bauer
Sudveg 3,

Glandorf, 49219

(iv) Paul Bauer
Sudweg 3,

Glandorf, 49219



4. iii

Correct Answer :-

20) On the sale of two watches at Rs. 2000 each, a merchant gains 10% on one and loses 10% on the

other. What is the net result?/uﬁﬁ?aﬁ zooomw%mﬁ,ﬁm%mﬁmaﬁ
TSP U 10% BT ATH 3T 3NT g W 10% D1 1 g3 | Y[ Ufoma wam @2

1. No profit and no loss /aﬁ's‘am 3R g1+ =gl
2. 5% profit / 5% ATH
3.1 % profit / 1% ATH

4.1%loss / 1% EIIEI

Correct Answer :-

e 1%loss/ 1% 6|ﬁ

21) The list price of a cassette player will fetch a profit of 40 %. How much discount on the list price
should be offered to attain a profit of 19 %? /w%\ﬁ'c AR BT '\‘Fﬁ'ﬂ@, 40% BT ATH a'l'ITI 19% BT
ATH UT B3 & e, it goa W forasil @ Uer &= a1fee?

1.21%
2.12.5%
3.16 %

4.15%

Correct Answer :-

22) A train travels at a speed of 81 kmph. How many meters will it travel in 20 minutes? / WW

81 foreft wfr deT Y are A gt 31 20 foFe ® ag foraq iew aentl
1. 27000 m / 27000 HIcR

2. 37000 m / 37000 HIcX

3. None of the above / JTRIFd & ¥ HIS ol

4. 47000 m / 47000 Hiex



Correct Answer :-

e 27000 m /27000 Hie?

23) If Rs. 360 is divided among Abdul, Babu, and Chandar in the ratio of 2 : 3 : 4, then Babu will get: /
gfe 360 YA BI g, TG 3R TR | 2: 3: 4 F FuTd & fyurira foran wimg, ot a1 =)

T gia

1. Rs. 200 / 200 ¥UY

2. Rs. 120/ 120 34U

3. Rs. 80/ 80 SUI

4. Rs. 160 / 160 ST

Correct Answer :-

e Rs.120/120 30

24) If 25 salesmen earn Rs.1000 in 10 days, then how much will 15 salesmen earn in 15 days? / ‘Clﬁ' 25

faspan, 10 fa=1 & 1000 TUA FHTA & @ 15 fa=1 & 15 faspar fpa=m waMGT?
1. Rs. 900 / 900 TUY
2. Rs. 820 / 820 ¥4
3. Rs. 930 /930 ¥UY
4. Rs. 750 / 750 U

Correct Answer :-
« Rs. 900 /900 3T

25) Raja walked northwards for 3 km before taking a left turn. He walked 4 km after taking this left turn

and turned left again this time he took a left turn after walking for 6 km and stopped after walking for 8

km. What is his present location with respect to his start point? / ITSIT aT({ 'ﬂ?:ef | Tl?ﬁ IR ﬁ"x"lT &t

3R 3 fredt w1 39 91 WS &t A9 & uyTd at 4 fHe T ik fve a1e ga1, 39 9K 6 frtht aam

%?éma‘r%amwaﬁvsﬁaaﬁ%umwnml RIS fdg & T & su@! ada=
RITG?

1. 5 km North-East / 5 Tt Gﬂ?—tﬁ
2. 8 km North-West / 8 fdH! ITR-Uf&H

3. 8 km North-East / 8 T} STR-Td
4. 5 km South-East / 5 ﬁﬁﬁ‘cﬁm—‘{a‘

Correct Answer :-

e 5km South-East/5 Wﬂf\&mﬂj



26) A wire is bent to form an equilateral triangle of each side 198 cm. The wire is then reshaped to form

a circle. What is the diameter of the circle? / 198 T &1 Ud® w%wmﬁaﬁwaﬁaﬂﬁ%
ﬁluq%mﬁm@m%lqaﬁﬂrﬁ%mmﬁﬁwﬁmﬁmm%lqamwm

1. 98 cm / 98 THt
2.94.5cm /94.5 9H
3.198 cm / 198 TH

4. 189 cm / 189 THY

Correct Answer :-
. 189 cm /189 YH

27) Mansi's grandfather says, “Mansi, | am now 30 years older than your father. 15 years ago, | was 2%

times as old as your father”. How old is the grandfather now? /qT'T\‘ﬁ & E'I'a'l'\_rﬁ ﬁa%, "trrwﬁ, 3Ad

j;fg;gﬁmﬁsoaﬁm% 15 99 gd, ¥ geR frar I 2 V2 =1 3871 41 | g9 ¥, greeh fean

1. 50
2.55
3. 65

4. 60

Correct Answer :-

28) The least number that must be subtracted from 319 so that the remainder is exactly divisible by 23

is: / Y TgAaH =T ford fF 319 W g1 v A1fd Auwd gul U A 23 A fyunfora 8 9, 8:
1.16
2. 14
3. 20

4.4

Correct Answer :-
e 20

29) In aschool, 4 / 5 of the children are boys. If the numbers of girl is 200, then the number of boys will

be: / TP faaTera ®, 4/5 9= A5 & | Afe AsfHal @1 @A 200 B, A AP B @I ghft:



1. 600
2.900
3. 800

4. 700

Correct Answer :-

e 800

30) A person purchased a phone, and got a discount of 5% from dealer. He sold it at a profit of
10% on his purchase price. What is his percentage on actual price of the phone? / Th fea A
TP BIF TRIST 3R fashdr & 5% o1 ge Ui 311 I/ 304 359 oI W 10% & aTY IR 39 3
foam w9 & arafde geu ¥ ST ufawrd 7 82

31y
2

1.

[
b | =

%

[ =

3.

4. 5%

Correct Answer :-

Topic:- Science and Simple Arithmetic

1) An equilateral angle, ABC is inscribed in a circle with centre O. Find 2£BOC. / ABC &
gaag B § Sle d ‘0" @ o ged A Il 1 «BOC A

1. 60°

2.30°

3. 120°

4. 150°

Correct Answer :-



2)
In a trapezium, £A = x+25°, 2B =v"2C = 98°, 2D =2x+15° then the value of x and vis: /
U FHed el &, 24 =x+25°, £B=y°.£C=98° £D=2x+5° 8. AT x U y HT

AT B

1. x=58°,y=282°
2.x=52°,y=82°
3. x=50°,y=_82°
4, x=50°,y=92°
Correct Answer :-

. x=50°,y=82°

Given ZAOP =x° 20PC =v°, if x:v = 5:13. find the value of x and v. / T&ar 7141 % IEZ
£AOP=x°,0PC=v° 8.4 xy=5:13 &, @l X UG y & AT Ad S|

1. x =85°, y=90°
2. x=50°, y=130°
3. x =98¢, y=82°
4. x =60°, y=120°
Correct Answer :-

. x=50°, y=130°

4) A man covers a distance of 50 km at a speed of 40 km/hr, and another distance of 70 km at
a speed of 30 km/hr. The average speed for the whole journey will be: / T GI'IETﬁ 50 fopet
Bt g 40 foeii/der 31 a1a & a7 Ha1 8, 9YT 70 {5 3t o gt 30 i der St ara @
T BT 8 | YUl 9 & SN A1 gl



33 Zkmhr [ 332 fretEer
1. 43 43

36 Vikam/hr [ 36 ¥ ThANEer

34 Ekm.-hr ! 34 E eraf/ger
3.

40 Y lam/hr [ 40 Y TRdEger
4,

Correct Answer :-

33 %km.-hr /332 frefEer

43

5) A village has a population of 5000 people and it requires 100 liters of water per head per
day. The village has a tank of dimension 25m, 10m, and 6m, respectively. For how many days

will the water in the tank last (1m3 =1000 litres)? / U T B THIHSAT 5000 TRT % a4T
ufa safe ufd 1@ 100 <fiex STa &t Sawgedr gidl 81 T | HH: 25 Hiew, 10 Hiew 3iv

6 Hiex & AT 11 U 8 g1 ¢ &1 Ul fopa fa= aa wavm a# = 1000 <fieR)?
1. 11 days / 11 &

2.6 days / 6 f&T

3.9 days /9 fad

4.3 days /3 e

Correct Answer :-

. 3days/3faA

6) Ram sells an article at 15% profit. Had he sold it for Rs. 21 more, he would have gained
18%. The cost price of the article will be: / X7 TP T&] P 15% & ATH W aar g1 afe
I 39 21 FUY 3P H o7 Bl <t 98 18% 3ifold H= APl UTI ag BT AN Tod

1. Rs. 600 / 600 3T
2. Rs. 500 / 500 ST
3. Rs. 700 / 700 ST

4. Rs. 800 / 800 ST

Correct Answer :-



« Rs. 700 /700 304

7) Two towers are 30 m and 35 m high. They are 12 m apart. The distance between their tops

will be: / G ETAR 30 MR YT 35 MR FUFI A R MR P R R I STF Mo F g
D g3l T UPR gIiL:

1.16m/ 16 |l
2.15m/ 154t
3.13m/ 138

4. 14m/ 149t

Correct Answer :-

« 13m/13H

8) A’s salary is the same as 3 times B’s salary. If together they earn Rs. 3680 per month, find

their salaries. / A ®T dd-, B % da+1 &1 dI9 A1 8 | TS S A1, UFTHTE 3680 TUL HHTA
g, dl Il T A J1d Y|

1. A:Rs. 2830, B: Rs. 850 / A: 2830 %, B: 850 %

2. A: Rs. 2500, B: Rs. 1180/ A: 2500 %, B: 1180 %

3. A: Rs. 2800, B: Rs. 880 / A: 2800 %, B: 880 %

4, A: Rs. 2760, B: Rs. 920/ A: 2760 %, B: 920 %

Correct Answer :-

e A:Rs.2760, B: Rs. 920/ A: 2760 %, B: 920 ©

9) Evaluate: / Gedih B

3
42 X 243

3
1.392
2. 256
3. 149
4. 400

Correct Answer :-

« 392



10) Factorize : / UGS PN :
8x 2— 10x +3

1. (4x—3) (x-1)
2.(4x-3)(2x-1)
3.(x-3)(2x-1)

4. (x-3) (x+1)

Correct Answer :-

e (4x-3)(2x-1)

11) In how much time will the simple interest on Rs. 4000 at the rate of 9% per annum be
the same as the interest on Rs. 4500 at 9.5% per annum for 4 years? / = a9 # 4000
FUA TR Ufaad 9% $t G A AIYROI Tl ST 61 R FId=1T SATeT 4500 FUY W 4 I &
forg ufa af 0.5, Ft A grM2

1.4years/4aﬁ

2.3 2 years /3 v, aY
3.4%years/4%atf
4.4%years/4%a'5f

Correct Answer :-

. 4%years/4%a'5f

12) If the base and altitude of a triangle are doubled, the new area: / gfe U ﬁ‘{[ﬁ Gl

TYR Td HTS SNIHT 8 STl 8, a) 74T &% d gI:
1. Does not change /Wﬁﬂ'ﬁﬁ :lﬁépl?ﬂ %
2. Becomes four times the original / HcT W PTAR AT Eﬁ SITdT %

3. Becomes twice that of the original / H{&I &ABS BT UL BRI

4. Becomes half of the original / {1 RELTEARCICI Epf STl %

Correct Answer :-

- Becomes four times the original / J& &Hd &1 IR AT &1 ST §

13) The remainder when 3a3 - 8 is divided by (a- 1) is: / oId 323 _ 8§ Bl (a-1) ¥ favnfora
far wiran 8, 99 2w:



14) The ten’s digit of the cube root of 29791 which is a perfect cube will be: / 29791 CAE |

e BT 3818 3, St f o qui u :
1.3
2.2
3.4

4.5

Correct Answer :-

15) The probability of getting a vowel from the letters of the word “PENCIL” is: / &R

“PENCIL” ¥ T TR UTW g1 &1 Ui dT &:

N
Rl BLE e

oy | Ln

Correct Answer :-

16) Which of the following are liquid metals at nearly 30°C? / Frafafed 7 9 #19 aWT 30°c W)
%d UG 82



1. Mercury, Caesium, Bromine / UR, m, A

2. Gallium, Caesium, Mercury / ﬁﬁﬂm, ?ﬁ'ﬁ,ﬁqﬂ, UR<q

3. Bromine, Mercury, Gallium / ah?ﬂ:r, URa, TferaH

4. Fluorine, Chlorine, Bromine / t@\ﬁﬂ:{ , a%iﬁﬁ, CIiE]

Correct Answer :-

« Gallium, Caesium, Mercury / Tferad, Sforas, urRg

17) Which one of the following agronomic conditions affects cultivation practices and crop yield? /

o1 d PRy fRufy, @dt gt sryaml td vaa @t igaR &) guiiad Bd @2
1. All of the above / STGad T+t

2. Soil quality only / dc H&T &1 TOET

3. Weather only / $dd HIGH

4. Availability of water resources only / DHad ofd STl Bt RENECEI

Correct Answer :-

 All of the above / G'Er!jaa gait

18) Splitting of light into its constituent colors is called ./ TETRI T U JHed I |
favfora gam FEAI gl

1. Normal / HTHIY

2. Dispersion / PEAWE]
3. Spectrum / @W
4. Reflection / TR

Correct Answer :-

» Dispersion / P10

19) Oxidative breakdown of respiratory substrates in the presence of oxygen results in the release of:
/ SiTpater @1 IR F [@E AR & AHTpd Bl Uor o1 gRurfa fr & saygfaa &

1. Ethyl alcohol and lactic acid / U Uel@ g d adT Afded S|

2. Ethyl alcohol and carbon dioxide / Qlﬂa Qﬂ\cb\lgd qYT HTe @Eml

3. Carbon dioxide and lactic acid / BT STZHHUZS IUT Afded AT |

4. Carbon dioxide and water / BTE WGI\I’GI?HI‘&S GRIESEE

Correct Answer :-



« Carbon dioxide and water / BTS] 3133‘le3{-||$6 GRIESEE

20) Choose the products of glucose metabolism in muscles in the absence of oxygen: / SfTRIe 31
SrgufRufa # AUl | Teele TTIey & IATel 1Y :

1. Pyruvic acid + Energy / IS ldd 3T + SHoll

2. Lactic acid + Energy / Afded 3d + ol

3. Carbon dioxide + Alcohol + Energy / W@gm + W@Tﬂ + 3ol

4. Carbon dioxide + Water + Energy / L] EEG{THQ:ITE'@ + O + ol

Correct Answer :-
o Lactic acid + Energy / Afdees 3T + ol

21) If K, L, M and N shells of an atom are completely filled with electrons, what would be the total
number of electrons in the atom? / Jf¢ TH UIHI] F K, L, M TUTN BI T’f??q | Eaﬂﬁ'ﬁ W
e a8, ot v § sAaeiF 9t a we fHant ghfte

1. 50
2.32
3. 18

4. 60

Correct Answer :-
e 60

22) The term gene was coined by ./ g S GIRT el T YT
1. Mendel / HSd
2. Watson / dlcd+

3. Johnson / SG
4, Darwin/@liaq

Correct Answer :-

« Johnson / SI_E

23) The planet between the orbit of Earth and the Sun is: /qﬁlﬁ'} DI BT aUT q;cf%? HAYG P18

P e:

1. Mars / HTd

2. Jupiter / Qﬁﬂtﬁ%{



3. Mercury / g4
4, Neptune / W

Correct Answer :-
« Mercury / Y

24) The whole apparatus including electrodes, electrolytes and vessel containing them is

called ./ X1 ISR forad saPels, AP IATse aUT 36 YRS U MU iaT &,
FEarargl

1. Voltameter / m

2. Thermometer / YHTHICY

3. Ammeter / mﬂa

4. Electrometer / Wzﬁa

Correct Answer :-

 Voltameter / EnFI\E'IT-ﬁET

25) The pole star appears fixed in the sky because: / §d dIRT STHIRI A fRR ﬁ@'lg ot %, m
1. It is located on the axis of rotation of the earth. / g quﬁ & URHHU Bt %R'T R RE g

2. It is the brightest star. / g ﬂaﬁﬂ?ﬁ JOB AT AR % [

3. It extends as an imaginary line from the ends of Ursa Major. / dg Wﬁfa? BRIYTH Ww
BT fIqdR BT 2|

4. Stars do not move. / dR TTfd T‘BOYW%I

Correct Answer :-

« Itis located on the axis of rotation of the earth. / g quﬁ & URHHU Bt ‘f':]ﬁ R RE AT

26) The contrasting features for the shape of the seed are: / I & SMPR & fere R farieht
1. Yellow and green / aidr GﬁT Bl

2. Round and wrinkled / e 3R ?ﬂ;\f'alq

3. Inflated and constricted / <l 311 3R ﬂ?ﬁlﬁ

4. Gray and white / U 3R ghg

Correct Answer :-

« Round and wrinkled / el 3R FaR



27) Before reduction takes place, metal sulphide has to be converted to: / TUTIIT HEK: q\?f, YTd

Yp15S Bl 59H yRafdd #A1usanrg:
1. Oxides / 3TdTTSS
2. Sulphates / Jehe

3. Metals / YTq

4. Carbonates / PTIIC

Correct Answer :-

« Oxides / TS

28) Which of the following is NOT a kind of epithelial tissue? / =T # & TT U UBR BT IUGAT

SHa® T8l 82
1. Squamous / W
2. Columnar / FAHTHR

3. Cuboidal / YdIhTR
4, Connective / HﬁnTrﬁ

Correct Answer :-

e Connective / Tarol

29) Which one of the following organisms is NOT microscopic? / fEAdd s oig ﬁ&ﬂﬂ?ﬁq

T8 82
1. Bacteria / \_rﬂaTUl

2. Virus / m
3. Amoeba / 3THIET

4. Lice /9

Correct Answer :-

30) Cell secretions are processed and packed up by: / BIRTHT H1E@ A= & gRT FTIfYa i
Tpferd forg wmg &

1. Golgi apparatus / el USR]

2. Nucleus / ElRER

3. Endoplasmic reticulum / &I?IT;&ﬂH SINED



4. Mitochondria / WW

Correct Answer :-

» Golgi apparatus / el IUHT



